
MID-TERM TEST ENGLISH 9  

UNIT 1,2,3 

I.Choose the word/ phrase (A, B, C or D) that best fits the space or best answers the question 
given in each sentence(2.5pts) 
1. Which word has the underlined part pronounced differently from that of the others?  

/t/ /d/ /Id/       EX:   embroidered   exchanged   comprised   impressed 
2. Which word has the underlined part pronounced differently from that of the others? 

/i/ /ai/             EX:   ride          drive since        divide 
3. Which word has a different stress pattern from that of the others? 
4. Which word has a different stress pattern from that of the others? 

 5.   12: vocabulary: unit 1,2,3 
13. Speaking:  
14. Speaking 
II.Look at the signs. Choose the best answer (A,B,C or D) for questions 11 and 12. (0.5 p) 
15. Road warning signs 
16. Road warning signs 
III. Read the following passage. Decide if the statements from 13 to 16 are True or False, 
and choose the correct answer (A, B, C or D) for the questions 17 and 18. (1.5pts) 
UNIT1,2,3 
17 20. True or false 
21. What is the main idea of the passage? 
22.  What is not mentioned? 
IV.Choose the word (A, B, C or D) that best fits the blank space in the following passage. 
(1.5pts)  
23.  28. A,B,C,D 
V. Use the correct form of the word given in each sentence. (1.5pts) 
29. Verb: modernize, divide   
30. Noun: impression, inspiration   
31. Noun:  poet, sightseer 
32. Adj: economic, baggy 
33. Adj: enjoyable, faded 
34. Adverb: officially, traditionally 
VI. Rearrange the groups of words in a correct order to make complete sentences. (0.5pt)  
35.  S+ Have/has (not)+ Vpp+ Since + S+ ved/v2 
36.  It+ is/seems + adj+ For +O + To Infinitive 
VI. Rewrite each of the following sentences in another way so that it means almost the same 
as the sentence printed before it. (1.0 pt) 
37. Wish clause: It’s a pity/What a bity/I’m sorry I wish 
38. Because/As/Since so  
39. Passive form (Modal verbs) 
40. Simple past present perfect:  
The last time S+V2/Ved+ O was +time ago.  S+ haven’t/hasn’t+ Vpp+ for+time 
 


